Efficiency vs hit

efficiency vs hits

0.5

20 30 40 50 60 70 80
TP hits

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

[Efficienc| —— DQM_pixelCPEANdChi2_step2_ttbar-phasel-newgeom

%)
2

CD
>
7]
>
>
j3)
c
(7}

=
5}

Ratio

£0.09

3]
= 0.06

0.1

0.08
0.07

0.05]
0.04]
0.03]
0.02
0.0%

J.G.'-.-‘.

| SR PR S

TP layers

Efficiency vs pixel layer

%)

0.
0.

Ratio

_C,efficier_zgy ) pigl Igyer

0.02p

018
016F
o014F
o012F
0.01F
008k
006
004
002

5 6 7 8
TP pixel layers

Efficiency vs 3D layer
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